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Obtain basic feasible solution of the following transporation problem by 6
matrix minima method:
o) DI D2 D3 D4 | Suppq
01 4 7 5 13 40
02 10 8 s 16 50
03 13 7 16 28 10
Recruitment 20 40 30 10 100
OR
Solve the following transportation problem by Vogel’s method and find total
transportation cost.
o) DI D2 D3 D4 D5 | Supply |
01 9 4 8 10 6 50
02 6 7 3 4 3 20
03 3 5 2 6 4 30
| Recruitment | 40 10 20 20 | 10 | 100 |
Describe Hungarians method for assignment problem +

OR

What is replacement problem? Explain the method of solving replacement
problem.

A grinding machine costs Rs. 7000. The operating cost for the first year is ‘«)
Rs. 200 and then it increase by Rs. 500 every year. The re-sale value of the
machine for the first year is Rs. 4000 and then it decreases by Rs. 500 every
year. After how many years the machine should be replaced ?

OR
A machine costs Rs. 10,000, its maintenance cost for the first year is Rs.300
and then it increase by Rs. 1,500 every year. Decide the optimal period for

the replacement.

Solve the following assignment problem so that total cost is minimum.

Also find total minimum cost.

o) D DI D2 D3 D4 |
01 42 40 51 67
02 57 42 63 58
03 49 52 48 61
04 41 45 60 55
OR

Solve the following assignment problem so that total cost is minimum.
Also find total minimum cost:
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o N 2 5 7 4
w2 10 8 11 a0 o
W3 5 6 12 8
i W4 9 8 9 6
Answer the following questions: 14

(1) Give conditions for when two matrices are equal
(2) If A= [2 2] and B:[é] then find BXCA and AT X BT,

(3) What is linear programming problem?
(4) Find total transportation cost (Z) if X and Gj are given as below:
cli=5, C21=4, C22=10, C339
Xii=4, X21=5, X22=20, X33=20
(5) Give aim of assignment problem
(6) State the name of the method of solving transportation problem. Which
is the best approximation method?
(7) After how many years the machine should be replaced? Why?
Year (n) : | 2 3 4 5
Total Yearly cost (T) 7300 9100 12400 17200 23500



